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Solve[\/(};—z (1-Cos[«/7t])2+xz (sin[«/z_t])z,, (v}:z_ (l—Cos[‘\/Z_t]) -1] ] =1, x]
VT -7 cos VT t]
1-2Cos[v2 t] +Cos[v2 t]*+sin[VZ t]”

V-Z_—'\/E-Cos['\ﬁ_t] ]
1—2Cos['\/?t] +C0$['\/?t]2+5in['\/—2—-t]2

{{x—>0}, {xe

1

Simplify|

1

\/2_

Simplify[l/'\/?Sin[‘\/Z—t]]
Sin{-\/Z_t]

V2

Simplify[1/2-1/2cCos[V2 u]-1]

—Cos[~—u~—]2

\[5‘

lsg = DSolve[{u'[t] = 10v[t], v'[c] = -10u[z] -~w[z],
w'[t] =v[t], u[0] =0, v[0] =0, w[O0] = -1}, {u[z], v[z], w[t]}, t]

{{u[t} —>~~1i (—1+Cos{\/101 t]),
101
v[t] - w, ] = (—100~Cos[«/101 t])}}
101 101
N , 2
¢ = (_-ﬂ (_1+Cos['\/101 t]))2+[81n[ 01 t]] +( A (-100—005['\/_17)—1—1:]))2
101 Af101 101
[ 2 2
(-100 - cos [vT0T ]} 100 -1+ cos[v10T ] RSN
10201 10201 101

pl = ParametricPlot3D[{0, Sin[t], -Cos[t]},
{t, 0, 27}, PlotRange » All, PlotStyle - Red];

PK = ParametricPlot3D[{Sin[©] Cos[¢], Sin[@] Sin[¢], Cos[@O]},
{®, 0, 7}, {9, 0, 277}, PlotRange » All, PlotStyle -» Opacity[0.3]];
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Show[pl, pK]

p2 = ParametricPlot3D[{sin|

7

{t, 0, 4}, PlotRange -» All, PlotStyle - Red];

Show[p2, pK]
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(—1+Cos['\f2_lo—1t])/‘\/—,

10
101

p3 = ParametricPlot3D[{-

(-100-Cos[«/'1_61— r])/'\/_c_},

1
101

L/ve,

{t, 0, 47}, PlotRange -» All, PlotStyle - Red] B

sin[4/101 =
101

Show[p3, pK]
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